
MATHS

BOOKS - PSEB

CONSTRUCTIONS

Exercise

1. Construct an angle of  at the initial point

of a given ray and justify the construction.

Watch Video Solution

90∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_S29TOGd6OkZR


2. Construct an angle of  at the initial

point of a given ray and justify the

construction.

Watch Video Solution

45∘

3. Construct the angles of the following

measurement .

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_S29TOGd6OkZR
https://dl.doubtnut.com/l/_CEVImq0q8hdB
https://dl.doubtnut.com/l/_rudIuNtfLQW4
https://dl.doubtnut.com/l/_izyt5XYZigZz


4. Construct the angles of the following

measurement  .

Watch Video Solution

22
1∘

2

5. Construct the angles of the following

measurement .

Watch Video Solution

15∘

https://dl.doubtnut.com/l/_izyt5XYZigZz
https://dl.doubtnut.com/l/_alXW4bPvGTqv


6. BOD of waste water is estimated by

measuring the amount of

Watch Video Solution

7. Using ruler and compasses, construct the

following angles and justify your construction

: 

Watch Video Solution

120∘

https://dl.doubtnut.com/l/_q6I8czPohsxQ
https://dl.doubtnut.com/l/_IfqIwdMzNHqT


8. Find the area of triangle two sides of which

are 18 cm and 10 cm and the perimeter is 42

cm.

Watch Video Solution

9. Construct an equilateral triangle, given its

side and justify the construction.

Watch Video Solution

https://dl.doubtnut.com/l/_FzRLEphAFl1v
https://dl.doubtnut.com/l/_PyC00FXNDXZd


10. Construct a triangle ABC in which BC = 7cm,

 and .

Watch Video Solution

∠B = 75∘ AB + AC = 13cm

11. Construct a triangle ABC in which

,  and 

.

Watch Video Solution

BC = 8cm ∠B = 45∘

AB − AC = 3.5cm

https://dl.doubtnut.com/l/_2opLETOgpqKO
https://dl.doubtnut.com/l/_pRIlgNkstBnv


12. Construct a triangle PQR in which

angleQ = 60^@ PR - PQ = 2

cm.

Watch Video Solution

QR = 6cm, and

13. Construct a triangle XYZ in which

,  and 

.

Watch Video Solution

∠Y = 30∘ ∠Z = 90∘

XY + Y Z + ZX = 11cm

https://dl.doubtnut.com/l/_ysJIhyAXQXpV
https://dl.doubtnut.com/l/_5YDYnwTdJQBQ
https://dl.doubtnut.com/l/_SWkTKIKsNWBj


Example

14. Construct a right triangle whose base is 12

cm and sum of its hypotenuse and other side

is 18 cm.

Watch Video Solution

1. Construct a triangle ABC, in which

,  and AB + BC + CA = 11

cm.

Watch Video Solution

∠B = 60∘ ∠C = 45∘

https://dl.doubtnut.com/l/_SWkTKIKsNWBj
https://dl.doubtnut.com/l/_fZ9hNLgcqgUi


https://dl.doubtnut.com/l/_fZ9hNLgcqgUi

